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Electron: Outside of the nucleus - charge (Leledrs
' 28 A e
mass: 9.1 x 10 7
l
Proton: 'n the nucleus charge ”
mass: 1.673 x 10 a_
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Neutron: with the proton No Charge
in almost all nuclei 24 |82
mass: 1.675x 10 3
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Does every proton need an electron?
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Electron Configuration: W hew Electrons &°
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Isotopes:JAtoms of one elements that have different
mass numbers.
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As the number of protons in an atom increases, the number of neutrons
must increase in order to have a stable atom.

(!on:}ﬁn atom with a net charge

(positive or negative)
Different numbers of protons and electrons
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Practice Drawing:
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